THIVEE

AL C LK
— 0I5 i ]} _-:-_5 "5“ = EGI15T JK1E
5 2 i EE _— CODEH |B(H#H) B U3 1 527K 8 (Z2)
St.1 EXR-HER — —
—iRI5E _
K@ (°C)
1 _XE [KE(CC) =E hE 2IKiR A Fiin =X R
48 =) 14.5 18.4 18.8 9.0 5.2 BE e mR
64 g 22.8 22.3 21.8 7.0 3.0 BE e mR
8H N 30.5 26.3 25.5 14.0 6.5 BE |mE mR
10A Eh 24.2 24.0 23.8 17.0 9.0 BE |mE mR
128 Fh 11.0 17.8 17.6 8.0 4.0 BE e mR
28| MNEEE | 63 11.8 135 8.0 5.0 BE i3 2} BE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 7.8~83] 5.0LLE | 30LLTF — R — —
B (75%IE) - 7.5 1.0(1.3) 69 <0.5 0.18 0.013
4H == 8.1 8.1 0.7 90 <0.5 0.17 0.015
th & 8.2 8.0 1.1 0.0 - 0.17 0.015
65 =B 8.1 8.3 15 240 <0.5 0.25 0.015
th & 8.1 8.4 1.3 4.0 - 0.15 0.010
8 g =B 8.3 6.8 1.3 4.0 <0.5 0.15 0.008
th & 8.3 6.8 1.4 0.0 - 0.15 0.007
108 =B 8.0 6.8 1.0 150 <0.5 0.17 0.019
th & 8.1 6.6 1.0 93 - 0.15 0.017
128 =B 8.2 7.1 0.6 0.0 <0.5 0.17 0.009
th & 8.2 7.3 0.7 0.0 - 0.17 0.008
25 =B 8.1 7.8 0.6 240 <0.5 0.26 0.016
B 8.1 7.6 0.6 9.0 - 0.22 0.015
BEEE (REBDHEHA)
HREIHL | 2TV ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
47 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay B&R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.21
47 - - - - - - - -
68| <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.25
8AH - - - - - - - -
108 <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.17
128 - - - - - - - -
2A - - - - - - - -
ZTD{hIEH
RILL
Jx/—) 7] SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE| <002 - 3 <0.005 <0.001 <0.008
=B - - 3 <0.005 - -
4H ¢E _ _ 2 _ _ _
65 == <0.02 - 2 <0.005 <0.001 <0.008
e - - : ; - -
- - 3 <0.005 - -
8
Ao | - 2 - - -
108 == <0.02 - 2 <0.005 <0.001 <0.008
e - - 2 ; - -
- - 4 <0.005 - -
12
- - 3 <0.005 - -
2
Bkt | EINERE . .
(mg/1) (mg/1) (mg/1)
E¥E] 20000 - 0.01
=B 21000 - 0.01
4B —mE 1 22000 . .
65 =B 19000 - 0.01
B 20000 - -
85 == 20000 - <0.01
B 21000 — —
=B 19000 - 0.01
10A th S 19000 - -
=B 21000 - <0.01
128 th S 21000 - -
25 =B 19000 - 0.01
B 21000 — —



THIVEE

AL C LK
— IS i ]} _-:-_5 "5“ =G5 JK1E
e Hi B — COD#E®! (B(HR#EH) i U5 1th 52 K 3k (FR)
St.2 EXR-HEY — -
—iRI5H _
K& (°C)
1 _XE [KE(CC) =E hE 2IKR A Fiin =Xz R
48 =) 11.5 18.4 18.6 12.0 45 BE |meE mR
68 N 22.6 21.0 20.8 12.0 3.9 BE iy ) mR
8H Eh 30.5 26.2 26.2 7.5 6.0 BE ) mR
10A gEh 24.5 24.2 23.8 16.0 9.0 BE |meE mR
128 Eh 11.8 175 17.8 12.0 4.0 BE |meE mR
28] MNEEE | 65 12.0 12.0 12.0 6.5 BE iid) BE
4FRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 5.0LLE | 30LLF — R — —
EHE(75%IE) - 7.3 0.9(1.2) 210 £0.5 0.18 0.012
4H == 8.2 7.6 0.9 0.0 <0.5 0.16 0.014
th & 8.2 7.7 1.2 0.0 - 0.19 0.015
65 =B 8.1 8.3 1.2 0.0 <0.5 0.13 0.011
th & 8.2 8.2 1.1 4.0 - 0.13 0.008
8 g =B 8.2 6.4 1.4 2400 <0.5 0.25 0.009
th & 8.2 6.8 1.3 9.0 - 0.15 0.008
108 =B 8.0 6.2 1.0 0.0 <0.5 0.16 0.017
th & 8.0 6.4 1.0 21 - 0.16 0.016
128 =B 8.2 7.3 0.6 0.0 <0.5 0.17 0.006
th & 8.2 7.7 0.6 0.0 - 0.17 0.008
25 =B 8.1 7.8 0.5 15 <0.5 0.23 0.014
B 8.1 7.7 0.5 23 - 0.21 0.013
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JE#RH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
128 - - - - - - - -
28l - - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|[1,1,1-M)H0] 1,12-ry4a | RSO0
"y &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




FhS5490n(1,3-450 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001 F | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
48 = = = = = = = =
68| <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
8AH - - - - - - - -
108 <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.16
128 - - - - - - - -
2A - - - - - - - -
ZTNDIEH
RV L
Jx/—) R SS 2% |(snakiLh 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE| <002 - 3 <0.005 <0.001 <0.008
== - - 3 <0.005 — —
4H ¢E _ _ 2 _ _ _
65 == <0.02 — 2 <0.005 <0.001 <0.008
e - - : ; - -
— — 3 <0.005 — —
8
Ao | - 2 - - -
108 == <0.02 — 3 <0.005 <0.001 <0.008
e - - 2 ; - -
— — 7 <0.005 — —
12
- - 1 <0.005 — —
2
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
EHE] 21000 - 0.01
45 == 22000 - <0.01
] 22000 — —
65 == 21000 — <0.01
] 21000 — —
85 == 17000 — <0.01
] 21000 — —
== 19000 — 0.01
10A th S 19000 - -
== 21000 — <0.01
128 thE 22000 - -
28 == 20000 — 0.01
B 20000 — —



THIVEE

AL C LK
o J Bt s = EGIEHh S K s X i3
5 thIE — COD¥EH! [A(H#EH) % h 5t 7K 35 (F D th oD X 15)
St.3 EXR-HEY — -
—iRIEE _
K& (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin =Xz R
48 D) 11.0 18.3 18.7 13.8 5.1 BE |meE mR
68 g 22.8 21.4 20.8 10.0 45 BE |meE mR
8H N 30.0 26.1 25.7 11.0 6.5 BE |mE mR
108 Eh 25.0 23.5 23.5 8.0 3.0 BE ) mR
128 Fh 11.0 17.4 18.0 7.0 7.0 BE e mR
28| MNEEE | 63 13.0 13.0 13.0 8.5 BE iid) BE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH — —
B (75%IE) - 7.5 1.0(1.2) 45 <0.5 0.19 0.011
4H == 8.2 7.8 1.0 0.0 <0.5 0.17 0.012
th & 8.2 7.7 1.0 9.0 - 0.17 0.013
65 =B 8.1 8.3 0.7 0.0 <0.5 0.13 0.009
th & 8.2 8.3 1.6 0.0 - 0.13 0.007
8 g =B 8.2 6.8 1.2 0.0 <0.5 0.14 0.009
th & 8.3 6.9 1.2 0.0 - 0.13 0.008
108 =B 7.9 6.9 1.4 460 <0.5 0.40 0.020
th & 8.0 6.7 1.1 9.0 - 0.20 0.015
128 =B 8.2 7.0 0.6 9.0 <0.5 0.17 0.008
th & 8.2 7.6 0.6 0.0 - 0.16 0.007
25 =B 8.1 7.8 0.5 15 <0.5 0.22 0.012
B 8.1 7.8 0.5 43 - 0.22 0.014
BEEE (REBDHEHA)
INSPINIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
128 - - - - - - - -
28l - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
"y &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




Th3Haa|1,3-S450 = [N FARY S . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001LLF | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.27
48 = = = = = = = =
68| <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
8AH - - - - - - - -
108 <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.4
128 - - - - - - - -
2A - - - - - - - -
ZTNDIZH
RV L
Jx/—) R SS 2% (snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE| <002 - 3 0.005 <0.001 <0.008
== - - 2 <0.005 — —
4H ¢E _ _ 2 _ _ _
65 == <0.02 — 2 <0.005 <0.001 <0.008
e - - 2 ; - -
— — 2 <0.005 — —
8
Ao | - 2 - - -
108 == <0.02 — 5 0.006 <0.001 <0.008
e - - : ; - -
— — 6 <0.005 — —
12
— — 3 <0.005 — —
2
Bty | EEEY . .
(mg/1) (mg/1) (mg/1)
E¥E] 20000 - 0.01
45 == 23000 - 0.01
] 22000 — —
65 == 21000 — <0.01
] 21000 — —
8 g == 20000 — <0.01
] 21000 — —
== 16000 — 0.01
10A th S 19000 - -
== 21000 — <0.01
128 thE 22000 - -
28 == 20000 — 0.01
B 20000 — —



